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- Exercise No

. (1): draw the following sections
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- Exercise No. (2):

tis required to draw into scale 1:100 (Plan, Sec. Elevation, and Sec. Side
- View) for cross section of a Canal according to the following data:

" Bed level = (5.00)

" Berm level = (8.00)

- Bank level = (10.00)

- Land level (ground) = (9.00)

~ Side slope from bed to berm = 1:1

- Side slope from berm to bank = 2:1

Side slope from bank to land = 2:1

i: (Hint)
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Exercise No. (3):

Itis required to draw into scale 1:100 the following ground floor
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